[TITHOMSON'

Linear Motion. Optimized.”

Accessories
Mounting Kits

www.rodavigo.net

Mounting Clamps Type N1 and N2 (single clamp)’

Unit type N1 N2 A B C D oF F
WH40 890 885 0001 - 54 16 9,5 40 10 57
WH50 890 885 0001 - 54 16 9,5 40 10 57
WHBS0/ WB60 890 190 02 - 68 175 17 50 1M1 65
WH120 890192 13 — 80 25 18 50 15 85
WM40 / WB40 890 885 001 - 54 16 95 40 10 57
WM60 / WV60 / WZ60 890 190 02 — 68 175 17 50 11 65
WM80 / WV80 / WZ80 890 190 02 = 68 175 17 50 1" 6,5
WM60Z / WM80Z 890 190 02 = 68 175 17 50 " 6,5
WM120/WV120 890192 13 = 80 25 18 50 15 85
MLS60 890 190 02 890 192 26 68/120 175 17 50 " 6,5
MLS80 890192 13 890192 31 80/200 25 18 50 15 85
' Screws included in the shipment of above clamps
N1 N2 )
B D D B
oFE -};_— oE b |
. .
70 77778 4
20 20
Mounting Clamps Type M1 and M2 (single clamp)’
Unit type M1 M2 A B (5 D oE F
M50 D312 248 — 25 30 20 = = =
M55 D313 403 D313 402 25/56 255 10,7 41 95 53
M75! D312 747 D312 748 30/75 285 15 60 14 85
M100 D312 339 D312 334 45/92 465 22 60 17 105
"No screws included in the shipment of above clamps
M1 A . M2 .
’—— oE H i oE H i}
L L
oL 1P %7 Ry
] e N
132

Poligono Industrial O Rebullén s/n. 36416 - Mos - Espafia - rodavigo@rodavigo.com

+34 986 288118

Servicio de Att. al Cliente

oG
55
55
6,6
9
55
6,6
6,6
6,6
9
6,6
9

H Screws

7 1S04762-8.8
7 1S04762-8.8
7 1S04762-8.8
10 1S04762-8.8
7 1S04762-8.8
7 1S04762-8.8
7 1S04762-8.8
7 1S04762-8.8
10 1S04762-8.8
7 1S04762-8.8

10 1S04762-8.8

Ms [Nm]
5,4
54

9
20
54

9

9

9
20

9
20

Ms = tightening torque of screws

oG
6,5
55
85
10,5

H Screws
14 1S04762-8.8
10,2 1S04762-8.8
11 1S04762-8.8
20 1S04762-8.8

Ms [Nm]
94
55
23
45

Ms = tightening torque of screws

www.thomsonlinear.com



g -

www.roda

Servicio de Att. a

Accessories
Mounting Kits

Mounting Clamps Type M2 with Plate’

Unit type p/n A B C D E oF oG H
M50 D312 117 7 20 105 35 30 6,5 " -
M55 D313 474 85 15 100 44 70 8,5 14 44
M75 D312718 85 15 134 44 80 8,5 14 44
M100 D312 317 8,5 20 190 44 100 8,5 14 44

"two mounting clamps of version M2 (see page 132) and screws to connect these to the plate are included in shipment

| | C
T TR
t |
s | T olo T
R N P W -
plHe el e e
| .

www.thomsonlinear.com 133




www.rodavigo.net +34 986 288118

Servicio de Att. al Cliente

iy
Linear Motion. Optimized.”

Accessories
Mounting Kits

Mounting Clamps Type N1 for Multi Axis Systems'

Unit type X-axis  Unit type Y-axis Clamps A B c D oE F oG H
WM40 / WH40 WM40 / WH40 on request - - - - - - - -
WM60 WM60 890 191 94 58 17,5 17 40 11 6,5 6,6 7

'all necessary screws are included in the shipment

A
D B

1
Y-axis
L — —

//‘T OL X-axis

oG

Mounting Clamps Type M2 for Multi Axis Systems'

Unit type X-axis Unit type Y-axis p/n A B c D oF F oG H
M55 M55 D313 424 56 255 10,7 41 95 53 55 10,2
M75 M75 D312719 75 28,5 15 60 14 85 8,5 11
M100 M100 D312 304 92 46,5 22 60 17 10,5 10,5 20

Mounting Clamps Type M2 with Plate for Multi Axis Systems'

Unit type X-axis Unit type Y-axis p/n A B C D E oF oG H
M55 M75 D313 470 55 15 134 76 80 55 9,5 41
M75 M55 D313 060 85 15 134 106 80 85 14 60
M75 M100 D313 062 85 20 190 106 100 85 14 60
M100 M75 D313 292 10,5 20 190 142 100 10,5 17 60

'all necessary screws are included in the shipment

C
Clamps Clamps D
with Plate
B ‘1
o H N R R ——
- = .
I : | ©
&} i < I + ﬁ +
) <L L P [
20 ‘ ‘ oF
206
I— L"P
Y-axis
X-axis X-axis The clamps + plate consist of two clamps type
M2, one plate and necessary screws.
134 www.thomsonlinear.com

Poligono Industrial O Rebullén s/n. 36416 - Mos - Espafia - rodavigo@rodavigo.com



www.rodavigo.net

+34 986 288118

Servicio de Att. al Cliente

Accessories
Mounting Kits

Mounting Plates for Multi Axis Systems

Unit type X-axis  Unit type Y-axis

MS33

MS33

2HB10
2HB10
2HB10
2HB20
2HB20

e

| ——

Lyl e

Adapter Plates

Unit type
M55
M75
M75
M100
M100

p/n A B C D
MS33 MSXYP33-33 30 30 6 9
MS25 MSXYP33-25 30 30 55 9
MS25 2HXYP10-MS25 70 70 55 9
MS33 2HXYP10-MS33 70 70 6 9
2HB10 2HXYP10-10 70 70 55 9
2HB10 2HXYP20-10 145 145 105 16,5
2HB20 2HXYP20-10 145 145 105 16,5
dl A -
h i’ 2CLg D3 E (4)
A
A f\(
2 N7 o o &7 A 4
B2
G J Y B
A
J2
" o &) "
o)-._ Y. N A
(& ©
v
N— x
A2 H/2 K (4%)
< - >
| 1 A B C
D313 422 D313 423 40 60 20
D312 746 - 40 - 26
- D312 745 - 60 -
D312 338 - 40 - 26
- D312 337 - 60 -
I
B
L
~ [
é L
D 6

www.thomsonlinear.com

Poligono Industrial O Rebullén s/n. 36416 - Mos - Espafia - rodavigo@rodavigo.com

oo oo oo o oo m

"
"

60
60
100
100
100
200
200

120
60
100
120
100
200
200

30
42
42
30
35
35
85

100
42
42
100
75
75
120

K
M5x 0,8 - 6H
M3 x 0,5 - 6H
M3 x 0,5 - 6H
M5x 0,8 - 6H
M5x 0,8 - 6H
M5x 0,8 - 6H
M8 x 1,25 - 6H

L
12,7
12,7
12,7
12,7
12,7

22
22

Combinations for other units are available. Plates
to connect X and Z axes are also available for the
Microstage units size MS25 and MS33. Contact
customer support for details.

255
45
45
69
69

oF
6,5
6,5
15
6,5
15

37
51
51
62
62

Adapter plates are fitted in the grooves along
the profile and can be used to attach sensors,
switches, cable ducts etc. to the unit.

135



www.rodavigo.net +34 986 288118

Servicio de Att. al Cliente

iy
Linear Motion. Optimized.”

Accessories
Mounting Kits

T-slot Bolts

Unit type p/n oD H

M50 D312 221 M5 14

72 D800 089 M10 28

73 D800 089 M10 28

oD
‘ T

T-slot Nuts

Unit type p/n A B C D oF F
/B D900 151 18 11 1,5 6,3 M6 25
/B D900 150 18 1" 1,5 6,3 M8 25
MLS60 920 303 0037 16 8 4 6 M6 16
MLS80 920 303 0039 19,5 10 55 10,5 M8 20
WH120 91104419 15 10 6 12 M8 15
WM120 91104419 15 10 6 12 M8 15
2RB12, 2HB10, 2HB20 TNUT-01-M3 7 4 1,75 3 M3 9
2RB16, 2HB10 TNUT-02-M4 9,5 55 2,25 4 M4 12
2RB12 TNUT-03-M4 12 7 25 5 M4 15
2RB16, 2HB20 TNUT-04-M4 16,5 19 48 6 M4 16
2RB16, 2HB20 TNUT-04-M5 16,5 79 4.8 6 M5 16
2RB16, 2HB20 TNUT-04-M6 16,5 19 48 6 M6 16

B F
O
-
; X,
/
A oE
136 www.thomsonlinear.com

Poligono Industrial O Rebullén s/n. 36416 - Mos - Espafia - rodavigo@rodavigo.com





